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The figures in the margin indicate full marks
for the questions

T ol epat e e 1x8=8

Answer the following questions :
4 2011 wopq CIRTRE SPiR eRes f srere
?

What ig the sex ratio in India according to
2011 Census?
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Write down one primary objectiv
Twelfth Five-Year Plan.
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(b) Wt twafle sfEFeETa @B g Sy fory

¢ of

() GgrR 3R A ¥e Sawa wmery o

@7

What is the poverty ratio of India as per
the Tendulkar Committee Report?

(d) wI R @ w03 e sl o

In which sector disguised unemployment
is associated?

(e) NABARD-I 11 0 f¥ 7

i f
What is the primary function o
NABARD?

SR AR @ @ SRS a2
w2

. ?
In which plan JRY was introduced
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WA wenfdy afy CTRT wapyemy g wfiads
aft stapy RILEHGAT
Give a Suggestion to ¢q

ntrol the rapidly
growing Population i

Assam.

Here o fafy

Q% NI g rqen
¥ fa o

What is the position o

[ India in case of
Foreign Direct Investm

ent receipt?

2. i c@en wifagm v O e (afeer 150 %
l\ﬁu’iu‘) :

Write short notes on
150 words each) :

4x4=16
any four (within

(@) CiTE Reg

Green Revolution
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IAY
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Information Technology
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(4)

9 (A S
t T“' ing Cultivation : 0 (0 S A ST HT AP
Shifting ! MR F]T ) i SREY Eanst tﬁ”ﬂﬁ% T
: 1 SR | 7+4=
fe) e I :
e . i
Regional Disparities Discuss the major reasong behind Jow
Productivity of Indian agriculture Also
sugjest.s.ome Mmeasures tq improve the
2f$51 500 *+4 foes) : productivity of Indjan agriculture
o PR T foT ( ) .
Answer the following questions (within T/ OF
500 words each) :
(b) W?ﬁﬁﬂwmwﬁmﬁsmmﬁ
3. (o) WA ReW PRPIZ SEOW WA 34 PRI e s erﬁ wfate
01 12 eI
tqﬁr'@m‘{{ ST ‘ TEPIYR H1cesay 400 11
’ di ..
Discuss the. major fcfaturesfe:nir; xetr; { Citing the problems of agricultural
economy with special re marketing in Assam, discuss the steps
Assam. taken by the Government In recent years
&/T/ Or to tackle the same.
wq  wPRY 3
(b) 2001-2011 mi—i;; ] et 4 S (@) SRer weifve TR 49T S =
Qe R R UF  SRwy B e -
PR PR e FRe SR ? %cma:n AN z:n:;
. B II’HW:R +5=11
Analyze the features of pOpulamc)ire1 .
growth in India during the -dscraate g d Exp-)la.ln the role of public sector in t'he
2001-2011. Do you tl-fink _that }:gof ihe Indian economy and mention the. major
of growth of population is on o in Problems of public sector enterprises in
factors of unemployment proble India.
Assam?
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(6) (=7-)

el / Or ) o,
sen o e A A9 TIPS g @) O P B oqmr s s
eIl 4 | % ST SE €I aref SIS CTAITIT ASTTgz Fagy TR q
St 6+5-1] e Lz R T
Discuss the problems faced by the

gervice sector in India. Suggest some
measures Lo solve these problems.

(b)

. . 2+9=11
What is globalization? Critically discyg
the impacts of globalizati ;

t1 ic
s on on Indijan

6. (o) ARFEFEAL M pRE P AE AlGER
sfefafi fAncu Tl 9] .
Critically ~examine the trends of
trade and commerce in Assam since
independence.

w31/ Or

* A ok

() PE FEW PR Ce A e
RN A 1 |

Explain the prospects of border trade
with neighbouring countries in Assam.

7. (a) a&W ofReem wemsR cifdacd Qe s
T SRS T4319F Al ~fRsal Jg© F9°
o T 2, e w4 1
Discuss how the formation of National
Institute of Transparency instead of
Planning  Commission  will  help

Government of India to formulate
Five-Year Plans,
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